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Worksheet 1.3—Limits at Infinity

Show all work. No calculator

Short Answer:

On problems 1 — 6, find
() lim f(x)
X—>o0
(b) lim f(x)

X——o0
(c) the equations of any horizontal or slant asymptotes.

3yd —x—1 4x* —=3x+5
1 fx)=—"—"— 2. fx)=—m
/) X% +3 () 2x° +x—1
sin3x. 2x2+4

4. f(x)=""2 5. f(x)=—=

N \[4x4+8x2+1

5x3 +1

L



Multiple Choice

7. J}i_r)ll’xsin(x) -

(A)1 (B)0

—279x1% +2x% +5

x——0 —12x5 +4x° — 2x% —1

A)0 ®) -

2x3+4—7x—5x4 _

9. lim “=5—
x=—e x4+ x°+2x—35
(A) —= (B) =
_ 2
10. lim42 uJi
wyeo x” —1]
A)1 (B) oo
5x3 427
11. lm e
7 35=20x2 +10x+9
(A) oo (B) oo
12, lim 3*'3”*27:
a7 =27
(A) —o= B)1
-x
13, lim 2—=
x—oe ¥
(A) —o (B) 1
—-X
14, lim >t
el
(A) —eo (B)5
-X
15. lim 258 =
IS el T
(A) —oo B)5

©7

© <

O1

(C) 0

(€)3

(C)0

()0

(C) -5

(C) =5

(D) DNE

® 3

(D) -2
(D) -1
(D) -1

(D) -1
(D) e

(D) e

(D) oo

(E) -1

(BE) -5

(E) 2

(E) -4
(E) 0
(E) 3
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E) 3

(E) -1

(E) -1



2 i
x“-lifx<2

13. X)=
f() {3x—2ifx>2

(2) lim f(x)= ®) 1im+ S(x)= (©) lim f(x)=

x—2" x—2 x—=2

14, lim (x—3— ! ):

x—>3+ x-3

15. If g(x)= {’:_3’ *

! find lim g(x).

s x=1 x—>1

R x+3, x<l )
16. If h(x)= , find limA(x).
3¢ +1, x>1 x—1
17. lim tanx= 18. lim secx=
;’lT+ JII+

X— X—*—
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